
SOLUTION	
  

There	
  is	
  only	
  one	
  set-­‐up	
  of	
  appliances,	
  tables,	
  and	
  plants	
  that	
  will	
  sa7sfy	
  the	
  condi7ons.	
  	
  Three	
  rules	
  can	
  be	
  
sussed	
  out	
  from	
  the	
  direc7ons	
  that	
  can	
  help	
  you	
  solve	
  this	
  puzzle:	
  
	
  
	
  -­‐	
  The	
  only	
  thing	
  that	
  can	
  go	
  directly	
  in	
  front	
  of	
  a	
  window	
  is	
  a	
  plant.	
  
	
  -­‐	
  Plants	
  cannot	
  go	
  into	
  the	
  last	
  two	
  spaces	
  of	
  a	
  row	
  or	
  column	
  with	
  a	
  window	
  
	
  -­‐	
  Since	
  there	
  are	
  six	
  plants	
  and	
  six	
  windows,	
  each	
  window	
  must	
  service	
  exactly	
  one	
  plant.	
  	
  The	
  intersec7on	
  
where	
  a	
  row	
  and	
  column	
  that	
  have	
  windows	
  meet	
  cannot	
  hold	
  a	
  plant.	
  
	
  
The	
  same	
  will	
  hold	
  true	
  for	
  sockets	
  and	
  appliances.	
  	
  Applying	
  these	
  rules	
  and	
  using	
  process	
  of	
  elimina7on	
  
will	
  result	
  in	
  the	
  layout	
  shown	
  above.	
  
	
  
The	
  leCers	
  that	
  are	
  leD	
  uncovered	
  will	
  reveal	
  the	
  phrase	
  BOOKOFWORLDRECORDS	
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